29

( )
4 (
) 2
16
2
16
HorRat (R)
(Sr) 2 4

0.5 HorRat (R) 2
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(n- )
( PCB 300)
( ) ( )
(
) 2
(RM-10-3)
Retsch (Zn-1
1.0 mm)
2L
(G
G2 )
OMNI-

International

26 28
( GC-FPD) Agilent 7890A
( GC/MS) GCMS-
QP2010
GC-FPD DB-
B 210 ( 0.25 mm 30 m 0.25
1 {1m)
27 2.5 mL/min
( ) 60° C 2 10°C
Dr.Ehrenstorfer 200°C 10
250°C
250°C
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GC/MS DB-5MS 0.12 ng/g
( 0.25 mm 30 m 0.25 pm)

0. 050 pg/g
1.7 mL/min 0.24 pg/g)
50°C 1 25°C B ( 3.0 pg/mL
125°C 10°C 7.2 pg/mL
300°C 10 6.0 ug/ml. )
250°C 10 mL
230°C 70 eV 5
B A
3 B
( (
) 0. 050 ug/g
0.12 pg/g
1 A ( A) 0.10 pg/g) A B
B ( B)
1
690 mL
A ( 7.2 ng/nl
3.0 pg/mL
14.4 pg/mL ) 4
10 mL 1)
5 A B
( )
A ( )
600 g 5
24
( )(
) (GC-
FPD)
5 (GC/NS) 10
(oL
) 10
A (

- 109 -



Journal
of AOAC International, Vol. 76, No. 4,
926-940 (1993) ( )

F )
(Microsoft Excel 2010) ( A B n=1)

(%)

2)

10.0 g (1 n=2)
20 mL 2

100 mL 1 50 mL 2 )
40°C

100 mL 16
100 mL ( )

(1 4) 100 nL 29 10 3

/ a 4 ( )
2 (-15°C  -30°C)

15 5
40°C /

30 mL 29 11 17
30 mL

30 mL 6

10 mL Horwitz
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(

(
)
( 1/10
)
€ )
(
)
(RSDr %)
2 ( + 2%
)
()
(RSDr %)
(%)
(RSDr %)
22 12 24 1224 2
)
(RSDr %)

117 9 4 1)

(Huber’ s H15

The International Harmonized Protocol
for the Proficiency Testing of
Analytical Chemistry Laboratories
recommendation *

x 50%

Horwitz  (Huber’ s H15

Horwitz

Horwitz

Horwitz Thompson (
Horwitz )

PRSDr (%)

Guidelines on Analytical
Terminology (Codex CAC/GL 72-2009
CAC/GL 72-2009)

(RSDz %)

(PRSDr %) HorRat
R
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(RSDr %)

(PRSDr % (%)
HorRat (r) 90.5% 105%
80% 120%
Cochran Grubbs
( )
2 3
(t
C D )
6 kg
2 2)
( A B) 160 g
( A 425 um
36 B:33 )
( -29°C -27°C)
« )
2.
2
3 90% 338 um 354 pm
GC-FPD 10% 93 pm 109 um
GC/MS ( 2
1) 3.
16
A B 4-1 11-3
F 1
F (3.020) P- 0.05 5 1 10
1710
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( 3-1 3-

4-1 11-1 16 4)
B
1 2
%) + x 50%
(RSDr %)
( 31
3-4) A
2
16 3 1
(RSDr %)  20% 3
1
2 2 3
B
2
(RSDr %) 3 1
2
A 3 1
2 3 1
3
2 3
3
Horwitz
B Horwitz
2 3

(PRSDz %)
A
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1
3
B 2
CAC/GL 72-2009
HorRat (R)
(5%) A B 4
0.5 HorRat (R) 2
HorRat
(r) (S
A B 4
HorRat (r) 1.3
Cochran ( 2.5%)
Grubbs ( 1.25%)
A B 2
A B 1
12 A B
(
)
« )
4 UCL
120%) LCL
70%)

1 3
120%
t
)
(5 7N
Avg 16
(
QUEChERS 4
7 -
(
2
(RSDr %)
8-2
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70% 120% E

65.9% 126%

69.7% 121% 63.0%
130% 62.7% 120%
(RSDr %)
15%
10% 3
15%
8-2 4
2
1 B
70%
120%
8-1 8-2
(RSDr %)
70% 120%
(RSDr %) 10%
15%
HorRat (R)
(RSDr %) (S?) A B
0.5 HorRat (R) 2
13-1 13-3
( )
14-1 14-3
15-1
15-2 16-1 16- F
4
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2L )

160 g
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0.055
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0.08
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LREAHA fEEAR

0:.035 0.04 0.045
FigfE
ZXRFAHB kAR
-
:
o
-
.
-
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